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𝑫𝒏 = ∑ 𝝀𝒏,𝒔,𝒙   ×  𝑵𝒔,𝒙,𝒕  × 𝑷𝒔,𝒙,𝒕  ×  (𝟏 + 𝒓)𝒏−𝒕 

𝒔,𝒙,𝒕 



𝑫𝒏

𝑵𝒔,𝒙,𝒕

𝑷𝒔,𝒙,𝒕

𝝀𝒏,𝒔,𝒙

𝒓



𝝀𝒏,𝒔,𝒙   

 

𝑵𝒔,𝒙,𝒕 = 𝑵𝒔,𝒙−𝟏,𝒕−𝟏  × (
𝑳𝒔,𝒙,𝒕   

𝑳𝒔,𝒙−𝟏,𝒕−𝟏
)

𝑵𝒔,𝒙,𝒕    

𝑳𝒔,𝒙,𝒕    

 



𝑷𝒔,𝒙,𝒕

 

𝑨𝒔,𝒙,𝒕 = (𝑨𝒔,𝒙−𝟏,𝒕−𝟏  ×
𝑳𝒔,𝒙,𝒕   

𝑳𝒔,𝒙−𝟏,𝒕−𝟏
) − 𝑱

𝒔,𝒙−𝟏,𝒕−𝟏
𝒕 −𝑰𝒔,𝒙−𝟏,𝒕−𝟏

𝒕



𝑨𝒔,𝒙,𝒕

𝑳𝒔,𝒙,𝒕    

𝑱𝒔,𝒙−𝟏,𝒕−𝟏   
𝒕  

𝑰𝒔,𝒙−𝟏,𝒕−𝟏   
𝒕  

𝐴𝐽𝑠,𝑥,𝑡

𝐴𝐼𝑠,𝑥,𝑡

𝝀𝒔,𝒙 =
𝑪𝒔,𝒙

𝒍𝒔 − 𝒆𝒔 

𝑪𝒔,𝒙 

𝒆𝒔



𝒍𝒔

𝑷𝒔,𝒙,𝒕

 

 

 



 

 

𝑫𝑷𝒔,𝒙−𝟏,𝒕 = 𝑵𝒔,𝒙−𝟏,𝒕−𝟏  ×  (𝟏 −
𝑳𝒔,𝒙,𝒕   

𝑳𝒔,𝒙−𝟏,𝒕−𝟏 
)

𝑫𝑷𝒔,𝒙−𝟏,𝒕   

𝑵𝒔,𝒙−𝟏,𝒕−𝟏   

𝑳𝒔,𝒙,𝒕    

 

𝑫𝑱𝒔,𝒙−𝟏,𝒕 = ∑ 𝑵(𝑱𝒕′)𝒔,𝒙−𝟏,𝒕−𝟏  ×  (𝟏 −
𝑳𝒔,𝒙,𝒕   

𝑳𝒔,𝒙−𝟏,𝒕−𝟏 
)

𝒕′<𝒕

𝑫𝑰𝒔,𝒙−𝟏,𝒕 = ∑ 𝑵(𝑰𝒕′)𝒔,𝒙−𝟏,𝒕−𝟏  ×  (𝟏 −
𝑳𝒔,𝒙,𝒕   

𝑳𝒔,𝒙−𝟏,𝒕−𝟏 
)

𝒕′<𝒕



𝑫𝑨𝒔,𝒙−𝟏,𝒕 =  𝑨𝒔,𝒙−𝟏,𝒕−𝟏  ×  (𝟏 −
𝑳𝒔,𝒙,𝒕   

𝑳𝒔,𝒙−𝟏,𝒕−𝟏
 )

𝑫𝑱𝒔,𝒙−𝟏,𝒕 

𝑵(𝑱𝒕′)𝒔,𝒙−𝟏,𝒕−𝟏 

𝑫𝑰𝒔,𝒙−𝟏,𝒕 

𝑵(𝑰𝒕′)𝒔,𝒙−𝟏,𝒕−𝟏 

𝑫𝑨𝒔,𝒙−𝟏,𝒕 

𝑳𝒔,𝒙,𝒕    

𝑫𝑪𝒔,𝒙−𝟏,𝒕 = 𝑫𝑨𝒔,𝒙−𝟏,𝒕 +  𝑫𝑱𝒔,𝒙−𝟏,𝒕 +  𝑫𝑰𝒔,𝒙−𝟏,𝒕

 𝐴𝑉𝑠,𝑥,𝑡

 𝐴𝑂𝑠,𝑥,𝑡



 𝐴𝐹𝑠,𝑥,𝑡

𝑽𝒔,𝒙,𝒕  =  𝑫𝑷𝒔′,𝒙+𝒋,𝒕  × 𝑨𝑽𝒔,𝒙,𝒕

𝑶𝒔,𝒙,𝒕  = ( 𝑫𝑷𝒔,𝒙+𝒋,𝒕 + 𝑫𝑷
𝒔′,𝒙+𝒋,𝒕

) × 𝑨𝑶𝒔,𝒙,𝒕

𝑭𝒔,𝒙,𝒕  =  ( 𝑫𝑷𝒔,𝒕 + 𝑫𝑷
𝒔′,𝒕

) × 𝑨𝑭𝒔,𝒙,𝒕

𝑽𝒔,𝒙,𝒕

𝑶𝒔,𝒙,𝒕

𝑭𝒔,𝒙,𝒕

𝒔´



𝑫𝑷𝒔,𝒙+𝒋,𝒕

𝑫𝑪𝒔,𝒙+𝒋,𝒕

𝝀𝒔,𝒙 =
𝑪𝒃𝒔,𝒙

𝑪𝒓𝒔,𝒙
 

𝑪𝒃𝒔,𝒙

𝑪𝒓𝒔,𝒙
 



𝑷𝒔,𝒙,𝒕

 

 

 



 

http://www.seg-social.es/Internet_1/InformacionEconomicof/InformacionContableFinancieraPruebas/%20cuentassegsocial/%20Ejerc16/cuengral15/con15/index.htm
http://www.seg-social.es/Internet_1/InformacionEconomicof/InformacionContableFinancieraPruebas/%20cuentassegsocial/%20Ejerc16/cuengral15/con15/index.htm
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